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GENERAL INSTRUCTIONS TO THE EXAMINEES : i I
2
1) whenefi gewem Ao ww oA @ T dfar: ) |J
Candidate must write first his / her Roll No. on the question paper |
compulsorily. i
2) ol e aard B
All the questions are compulsory: _ :
3) mmmmaﬁm—gﬁmﬁ@%‘ﬁl_ I
Write the answer to each question 10 the given answer-book only. |i
4) ﬁﬂuﬁﬁmwﬁ,ﬂ“ﬁ%mmm@%@' }
F esti having more than one part, the answers to those parts are to be (E Ir
or questions ore = _

written together in contin!ty: 1o
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Answer the following questions by selecting the correct option in answer book.

1) 1) e b T 99 g 3
H)  wforw @) it
®) Sy 3)  dmw
Asexual reproductive structures in Hydra are -
A) Bud B) Conidia
~ C) Zoospores D) Gemmules
ii) .ﬁqdmﬁﬁﬁnmmﬁﬁl 1
H) & ) fafefera
| | w) TamfEmm | 3)
Not an example of sexually transmitted disease is -
A) Gonorrhea B) Syphilis
C) Chlamydiasis D) Cancer
:--m}—ﬁloiqy
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F)y UUU T AUG

The genetic code that codes for Methionine is -

A) UUU B) AUG
C) ACG D) AAA
IR 3T T IZEA0T 2

W) aEEe a)  ad

) FFNE 3) v

Example of lymphoid organ is -

A) Thymus B) Liver
C) Pancreas D) Stomach

geita frae Iudim S 38 & w1 fear o 2l

W)  mEEEeEEtE 2) FERREE

Microbe that is used as biofertilizer.

a)aﬁ:ﬁ%ﬂ

A)  Trichoderma

C) Cyanobacteria

:éwpi?g-‘?ﬂiﬂlou'

B) Penicillium notatum

D) [ actobacillus

[1]
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v) T S g B wE H P e

1]
@) A q) R G
w) S e 3) S
An enzyme that cut DNA into fragments -
A) DNALigase B) Restrictionenzyme
C) DNA Polymerase D) Proteases enzyme
Vi) H T e SR e wen 3w it et & 27 1]
A) 1-Ac |) l-Acwll-Ab
m) 1I-Ac 7) I-Ab.
Which protein gene 'cry' controls the corn borer.
A) 1-Ac B) I-Ac&ll-Ab
C) II-Ac D) [-Ab
viii) e (za—fg) Safafirea et T I 2 (1]
3)  EeESE SRR &) g S
m) oty sam 7) T Wi dEd Uk
Example of In-situ conservation of biodiversity is -
A) Wildlife sanctuaries B) Zoological park
<) Botanical garden D) Wildlife safari park
o s e o g T \ e 1]
F) A )
o W ) S

Main example of greenhouse gas is -

Nitrogen B) Carbon monoxide
A) itrog

M thane D) OX}-’geH
C) e
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2) ﬁﬁmﬁtﬁﬁﬁn )
Fill'in the blanks :
) gEYT........... (rfven) et € ol

............. WA 2§ [Vat+Ys=1]

Male honey bee are (ploidy) having

i trgﬁg N g o _ _ chromosomes.
(ain)ﬁﬁﬁ:wam o T S R e @ g ) e -
[nsulin used ‘for diabej*tes Was extracted from the (organ) of
slaughtered pigs and animals. E—
i)  amrn % Ieargd BB T 2 (1]
The rate of biomass production is called .
iv) =¥ 2002 ¥ e snhRI S ... 4 v fowmm w et wdem gam (1]
The world Summit on Sustainable Development held in 2002in |
South Africa.
3) = uwEi % 3w o s stueEn o i df
Give the answer of the following questions in a word or a line.
) P @ e S (1]
Define external fertilisation.
i) ZIFT = qu = fofEm 1!
Write full name of ZIFT.
iii) Sftzres RRyy o diefimurgy st ERterzd 2rml (1
The phenotype of RRyy genotype seeded plant will be -
iv) O Wy e {1

What is Transgenic animal?

v) wrm RedRe @ e fefta) (1]

Write function of Adenosine deaminase.
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i) “ﬁmﬁ%ma‘m%l [a+¥i=1]
Write name of components of nycleqgiqe.

Vi) gﬁau@ﬁwmmﬁﬁﬂﬁ“ﬁmﬁm%w%@m [1]

Write one adaptation of seals foupd i polar seas.
Viil) ISR S U SR ERE (1)

Explain one reason of deforestation,

g lg-4q

SECTION - B

AYITT U (IW g W 50 i)

Short answer type questions (Answer word limit 50 words) :
4) T W A S AR A E W g s At [Vat+VatVe=1V4]
Write name and function of three parts of female reproductive system.

5) s gra T e g T

Write three hormones secreted by placenta,

[+s+Yi=1%]

6) ‘a@wﬁm'ﬁmmmﬂm 1
Explain 'Incomplete dominance' with example,

7y h Regm el S TR

[1%]
ool er's syndrome Wit
Explan Turn
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8) ﬁ@mmﬁﬁaﬁmasﬂmﬁ;ﬂ;aaww!

Write brain capacity and two characters of |
1

Explain'Adaptive radiation’ with example

[Vi+1=1%]

fe style of Neanderthal man.

[17]

10) st T T afE SR St A @ s R v gy e

(1+%=1%]

Define inbreeding. Write name of any one animal developed from interspecific

hybridisation.

11) wm - A et 3w - Bﬁwéﬁafiﬁaﬁnuﬁi‘ramﬁ%t

e < gafer S :
am - A

A) et

B) Eownd

c) ®d

P
resistance varlety.

Match the following:
PART - A
A) Cowpea
B) Cauliflower
C) Chilli

Syz.Biolog}’

i)

[VatVat¥a=1¥]

am - B

JHT AHER

i) @ Q@1 R
1) @ TE A

art - A contains the name of crop and Part - B contains their related disease

PART - B
Pusa Sadabahar
Pusa Komal

Pusa Shubhra
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12 " :
) mm%ma@a&maﬂm%m@m@mwa [1+%=1Y%]
Write the name of the microorganjgy, commonly called brewer's yeast. Write one
use of it. | |

13) ﬁaﬂaﬁwwm%ﬁmmﬁmﬁzﬂaﬁﬁa@mmﬁwﬁéﬂ%? [1+%=1%]

Write full name of BOD. What is the relation of polluting potential and BOD of
waste water. https://www.rajasthanboard.com

14) a’a%ﬁﬁﬁaaﬁrﬁmwmﬁﬁ%ﬁml [172]
Draw a labelled diagram of sparged stirred-tank bioreactor.

15) it Hages wht et v fasteen @) o) [1%4]

Explain any one feature of cloning vector.

@ig - g
SECTION - C

Fdaaia vy (IW g dew 100 ¥757)

L ong answer type questions (Answer wor d limit 100 words) :

16) e & e A feiae) Tt < T = S 3 2 el fary [1+1+1=3]

amoebigg] }
Write the name of the pathogen of 1asis. Write two Symptoms and two
source of infection.

Biclozy { Turn Over
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17) wﬁﬁa%ﬁm%?:ﬁﬁmm&m%mw : g— I]+2:3|

What are the stenothermal organism? Dp,, . diagrammatic representation of

organismic response.

18) mmﬁmmlwwawaﬁqﬂﬁ@!ﬂ
[1+2=

: : . _ o
Define ecological succession. Explain Hydrarch succession and Xerarch successio

in brief.

us - g
SECTION - D

A<t 9 (I vieg | 100 Weg) -

Essay type questions (Answer word limit 100 words) :
19) §) wwm E R Hifm)
i) & = =t aaEEl
i) T o v AT R iR fo
i)  Define pollination.
i) Explaindouble fertilisation.

iii) Draw a labelled diagram of strycyre of fertilise J embryo sac.
[1+1%+1%=4]

Fepe /OR

_ syeriulogJ’



20)

R T O iy, a
W’W’mﬁmwﬁmw'
maawmﬁw%ﬁﬁﬁwﬁmmﬁw fora gl

Define Xenogamy pollination,
Write one example of each non-albuminous, atbuminous

perispermic seed.
Draw a labelled diagram of L.S. of pistil showing path of pollen tube growth

[1+1%+1%=4]

T (TTETH) i aReivg Sifm)
TATROT (ZTEe) Wisha =t wwegu)
T (TEAYH) 1 JiTwA fo =
Define translation.

Explain process of translation.

Draw a labelled diagram of translation.

[1+1%+1%=4]
seEl/OR

ﬁgza&aéﬂ#qﬁmmw@ﬁmﬁﬁﬂwm%@m

& A B AARC
e o B R (o T

;s from pOiﬂt mutation
Name the diseas

Explain the Lac opero™

. of the Lac operon.
belled diagrat!
Draw a la

[1+1Y4+1%=4]
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